

The Center for Research Libraries scans to provide digital delivery of its holdings. In some cases problems with the quality of the original document or microfilm reproduction may result in a lower quality scan, but it will be legible. In some cases pages may be damaged or missing. Files include OCR (machine searchable text) when the quality of the scan and the language or format of the text allows.

If preferred, you may request a loan by contacting Center for Research Libraries through your Interlibrary Loan Office.

Rights and usage

Materials digitized by the Center for Research Libraries are intended for the personal educational and research use of students, scholars, and other researchers of the CRL member community. Copyrighted images and texts may not to be reproduced, displayed, distributed, broadcast, or downloaded for other purposes without the expressed, written permission of the copyright owner.

Center for Research Libraries

Identifier: 3f0fe5cd-f98e-4012-9c0d-0b0b40bbed62

Range: Scans 001 - 008

Downloaded on: 2022-05-24 00:03:48

SLAVE BOUNTIES.

--1.--

AN ACCOUNT of all Sums of Money which have been at any time paid by Great Britain, as
Bounties for or in respect of Slayes found or captured in any Vessels engaged in the illegal
traffic in Slaves:—So far as relates to the Treasury.

Issued at the Exchequer out of the Consolidated Fund.		£. s. d.
9th Nov. 1811.	To William Vesey Munnings, esq. President of the Bahamas, for the seizure and condemnation of six male negroes, imported into the West Indies £.78 To William Webb, searcher of the customs of do for do 78	156 ~ -
28th Jan. 1815.	To Charles William Maxwell, esq. Lieutenant Governor of the colony of Sierra Leone, for the seizure and condemnation of two males and one female - 36 - To Kennett Macaulay, collector of duties in the said colony, the prosecutor for do - 36	72
D•	To Charles William Maxwell, esq. Lieutenant Governor of the colony of Sierra Leone, as prosecutor for the seizure and condemnation of 19 males, three females, and 23 children - 346	
D _o D _o	To Major General James Chisholm, as prosecu- tor, for the seizure and condemnation of 11 males, three females and one child - 176 To Captain Donald Mackenzie, as prosecutor, for	
D•	the seizure and condemnation of eight men and two children - 110 To Charles William Maxwell, as governor, for the seizure and condemnation of 38 men, six women and 26 children - 632	
11th Feb. 1815.	To Charles Cameron, esq. Governor of the Bahama Islands, for the seizure and condemnation of two male slaves, imported into the West Indies	1,264
6th May, 1815.	Charles Caineron, esq. Governor of the Bahama Islands, for the seizure and condemnation of two male negroes, imported into the West Indies	26 - →
19th April, 1817	To Lieutenant George B. Vine, as prosecutor, for the seixure and condemnation of 212 males, 71 females and 73 children, seized on board "La Parisienne," and condemned in the court of Vice Admiralty, at the Mauritius	3,685
7th Feb. 1818.	Sir Ralph Woodford, bart. Governor of the island of Trinidad, for the seizure and condemnation of four males and two female negroes, and two children	78
10th Feb. 1818.	Augustus Pechell, esq. Receiver General of His Majesty's Customs, (in part of the balance due to the crown from the late Mr. Chollet, collector of the customs in the island of Trinidad,) for the seizure as above	78
11th July 1818.	John Miller, attorney, to E. A. Draper, esq. collector of customs at the Mauritius, for the seizure of the following slaves and condemned the same, having been imported into that island:—	
	15 males, at 13 l. each 195 50 4 children, 3 l 12	257
177.		(continued.)

	Messrs. William and James Burnie, agents for Captain Curran, commander, and the officers and crew of His Majesty's ship "Tyne," on the slaves captured by the said "Tyne" on board the vessels "Gustave" and "Neptune;" viz.— NEPTUNE.	£. s. d.
	67 males, above 14 years ±. 1,340 41 females, do 615	
	25 males, under 14 years 145	
	18 females, d° 90	
	GUSTAVE.	
	45 males, above 14 years - 900 3 females, de - 45	}
ļ	3 females, d ² 45 16 children, under 14 years 80	
	Allaharahanda kasa-sama-kasa	3,215
13th July 1818.	John Hinxman, agent on behalf of the captain, officers and crew of His Majesty's ship "Mosquito," on slaves captured by the said ship "Mosquito," on board the vessels "Petite Armée," "St. Joseph" and "Zephir;" viz.—	
	PETITE ARMÉE.	
	72 males, 14 years and upwards - 1,440	-
	44 females, d ^o 660 5 males, under 14 years old 45	
	13 females, do 65	
1	ST. JOSEPH.	
	45 males, 14 years and upwards - 900	
	10 females, - d° 150	
	1 male, under 14 years 5 6 females, d° 30	
	ZEPHIR.	
	68 males, 14 years and upwards - 1,360	
	16 females, d° 240	
	10 males, under 14 years 50	4,945
13th July 1818.	Thomas Stilwell, as agent and on behalf of George Charles	
-3.11 July 10104	Mackenzie, esq. commander, and the officers and crew of His Majesty's ship "Creole;" and of Benjamin Ashley, commander, and officers and crews of His Majesty's ship "Astrea," the sum of 5,520 l. 16s. 8 d. being five-sixths of the sum of 6,625 l. to be paid on the following slaves, captured by His Majesty's said ships on board the Spanish ship "Gutrades La Olenoia;" viz.—	
-gu yuiy 1010s	Mackenzie, esq. commander, and the officers and crew of His Majesty's ship "Creole;" and of Benjamin Ashley, commander, and officers and crews of His Majesty's ship "Astrea," the sum of 5,520 l. 16s. 8 d. being five-sixths of the sum of 6,625 l. to be paid on the following slaves, captured by His Majesty's said ships on board the Spanish ship "Gutrades La Olenoia;" viz.— On 255 men, above 14 years and upwards 5,100 —	
-gu Juij 1020s	Mackenzie, esq. commander, and the officers and crew of His Majesty's ship "Creole;" and of Benjamin Ashley, commander, and officers and crews of His Majesty's ship "Astrea," the sum of 5,520 l. 16s. 8 d. being five-sixths of the sum of 6,625 l. to be paid on the following slaves, captured by His Majesty's said ships on board the Spanish ship "Gutrades La Olenoia;" viz.— On 255 men, above 14 years and upwards 5,100 — 40 women, d* - 600 —	
-Ju Juij 1020	Mackenzie, esq. commander, and the officers and crew of His Majesty's ship "Creole;" and of Benjamin Ashley, commander, and officers and crews of His Majesty's ship "Astrea," the sum of 5,520 l. 16s. 8 d. being five-sixths of the sum of 6,625 l. to be paid on the following slaves, captured by His Majesty's said ships on board the Spanish ship "Gutrades La Olenoia;" viz.— On 255 men, above 14 years and upwards 5,100 —	E 700 16
agua yaiy 10104	Mackenzie, esq. commander, and the officers and crew of His Majesty's ship "Creole;" and of Benjamin Ashley, commander, and officers and crews of His Majesty's ship "Astrea," the sum of 5,520 l. 16 s. 8 d. being five-sixths of the sum of 6,625 l. to be paid on the following slaves, captured by His Majesty's said ships on board the Spanish ship "Gutrades La Olenoia;" viz.— On 255 men, above 14 years and upwards 5,100 — 40 women, - do - 600 — 123 boys, under 14 years - 615 —	5,520 16 8
22d Oct. 1818.	Mackenzie, esq. commander, and the officers and crew of His Majesty's ship "Creole;" and of Benjamin Ashley, commander, and officers and crews of His Majesty's ship "Astrea," the sum of 5,520 l. 16 s. 8 d. being five-sixths of the sum of 6,625 l. to be paid on the following slaves, captured by His Majesty's said ships on board the Spanish ship "Gutrades La Olenoia;" viz.— On 255 men, above 14 years and upwards 5,100 — 40 women, — do — 600 — 123 boys, under 14 years — 615 — 62 girls, — do — 310 — 310 — 62	
	Mackenzie, esq. commander, and the officers and crew of His Majesty's ship "Creole;" and of Benjamin Ashley, commander, and officers and crews of His Majesty's ship "Astrea," the sum of 5,520 l. 16s. 8d. being five-sixths of the sum of 6,625 l. to be paid on the following slaves, captured by His Majesty's said ships on board the Spanish ship "Gutrades La Olenoia;" viz.— On 255 men, above 14 years and upwards 5,100 — 40 women, — do — 600 — 600 — 123 boys, under 14 years — 615 — 62 girls, — do — 310 — 6,625 — Robert Townshend Farquhar, esq. Governor of Mauritius and Bourbon, on the seizure and condemnation of 375 males, 103 females and 174 children, imported into the West Indies — Arthur Farquhar, commander of His Majesty's ship "Liverpool," on the slaves, captured on board the schooner	
22d Oct. 1818.	Mackenzie, esq. commander, and the officers and crew of His Majesty's ship "Creole;" and of Benjamin Ashley, commander, and officers and crews of His Majesty's ship "Astrea," the sum of 5,520 l. 16s. 8 d. being five-sixths of the sum of 6,625 l. to be paid on the following slaves, captured by His Majesty's said ships on board the Spanish ship "Gutrades La Olenoia;" viz.— On 255 men, above 14 years and upwards 5,100 — 40 women, — de — 600 — 600 — 623 boys, under 14 years — 615 — 62 girls, — de — 310 — 6,625 — Robert Townshend Farquhar, esq. Governor of Mauritius and Bourbon, on the seizure and condemnation of 375 males, 103 females and 174 children, imported into the West Indies — Arthur Farquhar, commander of His Majesty's ship "Liver-	
22d Oct. 1818.	Mackenzie, esq. commander, and the officers and crew of His Majesty's ship "Creole;" and of Benjamin Ashley, commander, and officers and crews of His Majesty's ship "Astrea," the sum of 5,520 l. 16s. 8d. being five-sixths of the sum of 6,625 l. to be paid on the following slaves, captured by His Majesty's said ships on board the Spanish ship "Gutrades La Olenoia;" viz.— On 255 men, above 14 years and upwards 5,100 — 40 women, — de — 600 — 600 — 123 boys, under 14 years — 615 — 62 girls, — de — 310 — 6,625 — Robert Townshend Farquhar, esq. Governor of Mauritius and Bourbon, on the seizure and condemnation of 375 males, 103 females and 174 children, imported into the West Indies — — 47 children, imported into the Start Indies — — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 4255 — 425	
22d Oct. 1818.	Mackenzie, esq. commander, and the officers and crew of His Majesty's ship "Creole;" and of Benjamin Ashley, commander, and officers and crews of His Majesty's ship "Astrea," the sum of 5,520 l. 16s. 8 d. being five-sixths of the sum of 6,625 l. to be paid on the following slaves, captured by His Majesty's said ships on board the Spanish ship "Gutrades La Olenoia;" viz.— On 255 men, above 14 years and upwards 5,100 — 40 women, — de — 600 — 600 — 123 boys, under 14 years — 615 — 62 girls, — de — 310 — 6,625 — Robert Townshend Farquhar, esq. Governor of Mauritius and Bourbon, on the seizure and condemnation of 375 males, 103 females and 174 children, imported into the West Indies — Arthur Farquhar, commander of His Majesty's ship "Liverpool," on the slaves, captured on board the schooner "Circumstance;" viz.— 21 men, at 20 L — 429 — 4	
22d Oct. 1818.	Mackenzie, esq. commander, and the officers and crew of His Majesty's ship "Creole;" and of Benjamin Ashley, commander, and officers and crews of His Majesty's ship "Astrea," the sum of 5,520 l. 16s. 8d. being five-sixths of the sum of 6,625 l. to be paid on the following slaves, captured by His Majesty's said ships on board the Spanish ship "Gutrades La Olenoia;" viz.— On 255 men, above 14 years and upwards 5,100 — 40 women, — de — 600 — 600 — 123 boys, under 14 years — 615 — 62 girls, — de — 310 — 6,625 — Robert Townshend Farquhar, esq. Governor of Mauritius and Bourbon, on the seizure and condemnation of 375 males, 103 females and 174 children, imported into the West Indies — — 47 children, imported into the Start Indies — — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 420 — 4255 — 425	6,427
22d Oct. 1818. D•	Mackenzie, esq. commander, and the officers and crew of His Majesty's ship "Creole;" and of Benjamin Ashley, commander, and officers and crews of His Majesty's ship "Astrea," the sum of 5,520 l. 16s. 8d. being five-sixths of the sum of 6,625 l. to be paid on the following slaves, captured by His Majesty's said ships on board the Spanish ship "Gutrades La Olenoia;" viz.— On 255 men, above 14 years and upwards 5,100 — 40 women, — de — 600 — 600 — 123 boys, under 14 years — 615 — 62 girls, — de — 310 — 6,625 — 62 girls, — de — 310 — 6,625 — 62 girls, — de — 310 — 6,625 — 62 girls, — de — 310 — 6,625 — 7 Robert Townshend Farquhar, esq. Governor of Mauritius and Bourbon, on the seizure and condemnation of 375 males, 103 females and 174 children, imported into the West Indies —	6,427
22d Oct. 1818. D•	Mackenzie, esq. commander, and the officers and crew of His Majesty's ship "Creole;" and of Benjamin Ashley, commander, and officers and crews of His Majesty's ship "Astrea," the sum of 5,520 l. 16 s. 8 d. being five-sixths of the sum of 6,625 l. to be paid on the following slaves, captured by His Majesty's said ships on board the Spanish ship "Gutrades La Olenoia;" viz.— On 255 men, above 14 years and upwards 5,100 — 40 women, — do — 600 — 600 — 62 girls, — do — 62 girls, — do — 62 girls, — do — 6,625 — 62 girls, — do — 310 — 6,625 — 62 girls, — do — 6,625 —	6,427

	, , , , , , , , , , , , , , , , , , ,	
12th Jan. 1819.	Robert Townshend Farquhar, esq. Governor of Mauritius and Bourbon, on the seizure and condemnation of the slaves unlawfully introduced into the said island; viz.— 22 males, at 13 l. each £. 286	£. s. d.
	5 females, 10 l 50 4 children, 3 l 12	
14th Jan. 1819.	Charles William Maxwell, esq. Governor of the island of Dominica, for the seizure and condemnation of the slaves unlawfully introduced into the said island; viz.—	348
	4 males, at 13 l. each 52 2 females, 10 l 20	
-		72
D •	Major General Riall, Governor of the island of Grenada, on a negro man slave, condemned as being illegally imported into the said island	13
21st Jan. 1819.	Thomas Morton, esq. acting collector of customs at Grenada, for one negro man slave, condemned as illegally imported into the said island	13
10th April 1819.	Lieutenant Bartholomew Sullivan, of the Royal Marines, who had been appointed commandant of the Sychalle Islands, for the seizure and condemnation of the following slaves, landed on board the vessel called "La Virginie;" viz.— 27 males, at 13 l. each - 351 - 6 females, 10 l 60	- •
	3 children, 31 9	
17th April 1819.	William Vesey Munnings, esq. President and Commander-in-chief of the Bahama Islands, for the seizure and condemnation of the following slaves, landed by an insurgent privateer, for the purpose of sale, and condemned at Nassau; viz.— 42 males, at 13 l. each - 546	420
	19 females, 10 l 190	
	33 children, 31 99	835
10th April 1819.	Edward Allured Draper, esq. acting collector of His Majesty's Customs at Port Louis Mauritius, as prosecutor in the seizure and condemnation of the following slaves, unlawfully introduced into the above colony; viz.—	035
	5 males, at 13 l. each 65 3 females, 10 l 30	
	11 children, 3 l 33	
7th July 1819.	John Ouseley Kearnley, esq. for the seizure and condemnation of the following slaves condemned in the vice admiralty court at Sierra Leone, in 1818; viz.—	128
	8 males, at 13 l. each 104 6 females, 10 l 60	
	4 children, 3 l 12	
6th July 1819.	Zachary Macaulay, esq. agent to the under-mentioned persons, for the seizure and condemnation of the under-mentioned slaves; viz.—	176
	To Lieutenant Colonel McCarthy, as seizor in the condemnation of 43 slaves at Sierra Leone; viz.— 7 males, at 13 l. each 91 19 females, 10 l 190	
	17 children, 3l 51	
	To Lieutenant Colonel McCarthy, as governor	
	in the condemnation of the said slaves - 332	
	To George Macaulay, esq. as seizor in the con- demnation of one male 13	
	To Lieutenant Colonel McCarthy, as governor - 13	
	690	
	To Captain William Appleton, as seizor in the condemnation of 55 slaves; viz.—	
	24 males, at 13 L each 312 14 females, 10 L - 140	
	17 children, 3 l 51	
	To Lieutenant Colonel M'Carthy, as governor - 503 To Do as seizor in the condemnation of 20 slaves; viz.—	
	6 males, at 13 l. each 78	
	6 females, 10 l 60 8 children, 3 l 24	
	To Lieutenant Colonel McCarthy, as governor - 162	
	TO PRECIPE CALONET ILY ARITH 12 de Posecidos -	2,020
	I	(continued.)

-		
6th July 1819.	Lieutenant George Ballard Vine, commander of the government schooner "Magnet," for the following slaves captured at sea on board the schooner "L'Aigle," and condemned in the court of	£. s. d.
	vice admiralty at Mauritius. 81 males, at 13 l. each £. 1,053	
	13 females, 10 l 130	
	47 children, 31 141	1 994
12th July 1819.	Major General Gage John Hall, acting Governor of the island of Mauritius and Dependencies in Africa, for the seizure and condemnation of the following slaves, unlawfully introduced into the said island; viz.— 79 males, at 13l. each 1,027 8 females, 10l 80	1,324
	30 children, 31 90	1,197
7th July 1819.	To Lieutenant Colonel Charles William Maxwell, Governor of the island of Dominica, for the seizure and condemnation of the following slaves, unlawfully introduced into the said island; viz.— 1 male - 13 13	
	1 female 10	
	3 children, at 3 l. each 9	. 4
14th July 1819.	Lieutenant George Lee, Royal African Corps, and to Lieutenant Colonel Sir Charles McCarthy, for the seizure and condem- nation in the vice admiralty court at Sierra Leone, of the following slaves; viz.— To Lieutenant Lee, the prosecutor, for	32
	6 males, at 13 l. each 78	
	2 females, 10l 20	
	3 children, 31 9	
	107	
	To Lieutenant Colonel McCarthy for the said slaves	214
D ₆	Captain Alexander Grant and Lieutenant Colonel Sir Charles McCarthy, Governor of the settlement of Sierra Leone, for the seizure and condemnation, in the vice admiralty court, of the following slaves; viz.—	
	To Captain A. Grant, the prosecutor, 1 male 13 1 female 10	
	1 child 3	
	To Lieutenant Colonel McCarthy for the said slaves - 26	
	Colonel Charles William Maxwell, the Governor of the island of	. 52
27th Oct. 1819.	Dominica, for a slave man, seized and condemued in the vice admiralty court at the said island	13
5th Jan. 1820.	Major General Riall, Governor of the island of Grenada, for a slave man, seized and condemned as being illegally imported into the said island	13
12th Feb. 1820.	Symonds Bridgewater and John Laidlaw, collector and comptroller of His Majesty's customs in the island of Dominica, for the seizure and condemnation of the following slaves, unlawfully introduced into the said island; viz.—	•
	6 males, at 13 l. each 78	
	3 females, 10 l 30 3 children, 3 l 9	
15th April 1820.	George Boyd, collector of the customs at Carios, for the seizure	117
	and condemnation of the following slaves; viz.—	
	19 females, 10 l 190	
	33 children, 31 99	835
19th July 1820.	Charles McCarthy, esq. Governor of Sierra Leone, for the following slaves, seized within the said island, and condemned in the court of vice admiralty there; viz.—	50
	5 males, at 13 l. each 65 2 females, 10 L 20	
	a foliation of the	85
D° .	James Chisholm, esq. Commandant of the island of Goree, on the same seizure as above	85
	1	

	0 M 0 M 1 1 0 M 2 2 3 M (2 3) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	
30th Sept. 1820.	John Rose Forbes, acting collector, and Godfrey Wharam, acting comptroller of the customs at the port of Port Maria, Jamaica, for the following slaves seized within the said port, and condemned in the court of vice admiralty, Jamaica; viz.	£. s. d.
	16 males, at 13 l. each £. 208 21 females, 10 l 210 3 children, 3 l 9	427
24th July 1820.	Colonel Alexander Murray, collector of the customs at Nassau, for the following slaves seized by him, and condemned in the vice admiralty court at the Bahamas; viz.—	• •
	6 males, at 13 l. each	78
7th July 1820.	Archibald Campbell for the following slaves seized by Lieutenant Colonel C. M. Campbell, and a detachment of the 22d regiment at the Mauritius, and condemned in the court of vice admiralty there; viz.—	
	47 males, at 13 l. each 611 4 females, 10 l 40 13 children, 3 l 39	6nn
29th July 1820.	Lieutenant Colonel Charles McCarthy, for one male slave seized within the colony of Sierra Leone, and condemned in the court of vice admiralty there; viz.—	
	To Lieut. Colonel C. M Carthy as prosecutor 13 To Do as governor 13	26
17th Feb. 1821.	Major General Sir John Keaue, Governor of St. Lucia, for the seizure and condemnation of the following slaves unlawfully introduced into the said island; viz.—	
	2 men, at 13 l. each 26 40 40 1 child, 3	69 - -
13th Jan. 1821.	Zachary Macaulay, esquire, agent to the under-mentioned persons, for the seizure and condemnation of the following slaves; viz.—	
	To Lieutenant George Lee, as seizor in the condemnation of seven slaves at Sierra Leone; viz.— 4 men at 13 l. each - 52	,
	3 women, 10l 30	
	To Colonel Sir Charles McCarthy, as governor in the condemnation of the said slaves 82	
	To William Salter Saunders, esquire, as seizor in the condemnation of 11 slaves at Sierra Leone; viz.— 6 men, at 13 l. each - 78	
	2 women, 10 l 20 3 children, 3 l 9	
	To Lieutenant Colonel Sir Charles McCarthy, as governor in the condemnation of the said slaves	378 -
22d April 1820.	Sir Charles McCarthy, Governor of Sierra Leone, for the fol- lowing slaves seized within the said island, and condemned in the court of vice admiralty there.	375
	8 males, at 13 l. each 104 6 females, 10 l: 60 4 children, 3 l 12	376
7th April 1821.	William Fisher, esquire, commander of His Majesty's ship "Bann," for the following slaves captured on board the "San Antonio Melagrozo," and condemned in the vice admiralty court at the island of Sierra Leone viz.—	·
	265 males, at 20 l. each - 5,300 105 females, 15 l 1,575 675	7,550
	Edward Henry Madge, esquire, Commandant in the island of Mauritius, and dependencies in Africa, for the seizure and condemnation of the following slaves unlawfully introduced into the said island.	1000
	12 males, at 13 l. each	258
		(continue

7th April 1821.	Bartholomew Hoar Curran, esquire, commander of His Majesty's ship "Tyne," for the following slaves captured on board the schooner, "Eleanor," and condemned in the vice admiralty	£.	s.	d.
	court at Mauritius; viz.—	İ		
	96 men, at 20 l. each 1,920	1		
	17 females, 15 l 255 18 children, 5l 90			
	18 children, 5%	2,265	_	_
Directed, but not issued.	Ralph Darling, esquire, Major General, commanding at the island of Mauritius, for one man slave seized and condemned			
	as being illegally imported into the said island	13	-	
11th April 1821.	Francis Stanfell, esquire, commander of His Majesty's ship "Phaëton," for the following slaves captured on board the "Heloise," and condemned in the vice admiralty court at Mauritius; viz.—			
	48 males, at 20 l. each 960			
	20 females, 15l 300 14 children, 5l 70			
	14 children, 5l 70			
1st Oct. 1821.	Major General Gage John Hall, late acting Governor of the island of Mauritius, and dependencies in Africa, for the seizure and condemnation of the following slaves unlawfully introduced into the said island; viz.—	1,330	-	-
	5 males, at 13 <i>l</i> . each 65 4 females, 10 <i>l</i> 40			
	5 males, at 13 <i>l</i> . each 65 4 females, 10 <i>l</i> 40 5 children, 3 <i>l</i> 15	l		
	5 children, 3l 15			
23d July 1821.	Thomas Robert Pye, esquire, government agent for the island of Rodriques, for the following slaves seized by him and condemned in the vice admiralty court at the island of Mauritius; viz.—	120	_	_
	o5 males, at 13 l. each 845 9 females, 10 l 90			
	9 females, 10 <i>l</i> 90 6 children, 3 <i>l</i> 18			
22d Aug. 1821.	Richard Hart Davis, esquire, collector of the customs at the island of Mauritius, for the seizure and condemnation of the following slaves unlawfully introduced into the said island; viz. 15 males, at 13 l. each - 195 - 1	953	_	
	2 females, 10 l 20	1		
	4 children, 3l 12			
3d Dec. 1821.	General Lord Howden, late Governor and Vice Admiral of His Majesty's settlement of the Cape of Good Hope, and Commander-in-chief of His Majesty's forces in that settlement, for eight men slaves, at 13 L each, condemned as being illegally imported into the said settlement	227	_	-
T 0				İ
21st Jan. 1822.	William Vesey Munnings, esquire, President and Commander-in- chief of the Bahama islands, for the seizure and condemna- tion of the following slaves at Nassau; viz.— 2 males, at 13 l. each 26 3 females, 10 l 30			
	V ,	56	_	_
15th Jan. 1822.	Lieutenant Bybie Le Sage, government agent at Madagascar, for the following slaves seized in the schooner "Josephine"			
	by him, and condemned in the vice admiralty court at the island of Mauritius; viz.—			
	by him, and condemned in the vice admiralty court at the island of Mauritius; viz.— 20 males, at 13 l. each 260			
	by him, and condemned in the vice admiralty court at the island of Mauritius; viz.— 20 males, at 13 l. each 260 34 females, 10 l 340			
	by him, and condemned in the vice admiralty court at the island of Mauritius; viz.— 20 males, at 13 l. each 260	702		-
7th Jan. 1822.	by him, and condemned in the vice admiralty court at the island of Mauritius; viz.— 20 males, at 13 l. each 260 34 females, 10 l 340 34 children, 3 l 102 Messrs Goode and Clarke, agents for Benedictus Marwood Kelly, esquire, commander, and the officers and crew of His Majesty's ship "Pheasant," the captors of the Portuguese schooner, "Nova Felicidarte," for the seizure and condemnation of 70 men at 10 l. each, on account of being engaged	702	•••	~
7th Jan. 1822.	by him, and condemned in the vice admiralty court at the island of Mauritius; viz.— 20 males, at 13 l. each - 260 - 34 females, 10 l 340 - 34 children, 3 l 102 Messrs Goode and Clarke, agents for Benedictus Marwood Kelly, esquire, commander, and the officers and crew of His Majesty's ship "Pheasant," the captors of the Portuguese schooner, "Nova Felicidarte," for the seizure and condemnation of 70 men at 10 l. each, on account of being engaged in the illicit traffic in slaves, and delivered over to Sir Charles			-
7th Jan. 1822.	by him, and condemned in the vice admiralty court at the island of Mauritius; viz.— 20 males, at 13 l. each 260 34 females, 10 l 340 34 children, 3 l 102 Messrs Goode and Clarke, agents for Benedictus Marwood Kelly, esquire, commander, and the officers and crew of His Majesty's ship "Pheasant," the captors of the Portuguese schooner, "Nova Felicidarte," for the seizure and condemnation of 70 men at 10 l. each, on account of being engaged	702 700		-
7th Jan. 1822.	by him, and condemned in the vice admiralty court at the island of Mauritius; viz.— 20 males, at 13 l. each - 260 - 34 females, 10 l 340 - 34 children, 3 l 102 Messrs Goode and Clarke, agents for Benedictus Marwood Kelly, esquire, commander, and the officers and crew of His Majesty's ship "Pheasant," the captors of the Portuguese schooner, "Nova Felicidarte," for the seizure and condemnation of 70 men at 10 l. each, on account of being engaged in the illicit traffic in slaves, and delivered over to Sir Charles	700		- 8

AN ACCOUNT of all Sums of Money which have been repaid for such Bounties as were not distributed, and have been claimed by the Lords of the Treasury.

-NIL-

Whitehall, Treasury Chambers, 30th March 1822.

S. R. LUSHINGTON.

-- 2.-

Navy Office, 7th March 1822.

AN ACCOUNT of all Sums of Money which have been at any time paid by Great Britain, as Bounties for or in respect of Slaves found or captured in any Vessels engaged in the illegal traffic in Slaves;—also, An Account of all Sums of Money which have been repaid for such Bounties as were not distributed, and have been claimed by the Lords of the Treasury, or the Commissioners of the Navy:—So far as relates to this Department.

For Bounty on Slaves captured in vessels belonging to His Majesty's enemies, and considered as prize of war	£. s. d. 207,740
For Bounty on Slaves, being the property of His Majesty's enemies captured at the reduction of Foreign Settlements, and finally condemned as prize of war -	110,640
	318, 380
Of the above Bounty, there has been repaid to the Treasurer of the Navy, being the amount claimed by this Board in consequence of appeals pending}	44,710
Leaving the actual amount of payments £.	273,670 — —

T. B. Martin.

E. Bouverie.

J. D. Thomson.

SLAVE BOUNTIES

-

AN ACCOUNT of all Sums of Money which have been at any time paid by Great Britain, as Bounties for or in respect of Slaves found or captured in any Vessels engaged in the illegal traffic in Slaves:—So far as relates to the Treasury.

AN ACCOUNT of all Sums of Money, which have been at any time paid by Great Britain, as Bounties for or in respect of Slaves found or captured in any Vessels engaged in the illegal traffic in Slaves;—also, An Account of all Sums of Money which have been repaid for such Bounties as were not distributed, and have been claimed Navy :- So far as relates to the Navy Office. by the Lords of the Treasury, or the Commissioners of the

Ordered, by The House of Commons, w be Printed,

1 April 1822.